PRACTICE PAPER

Time allowed: 45 minutes Maximum Marks: 200

General Instructions: Same as Practice Paper-1.

Select the most ﬂppmpriﬂfe aptian.

Which of the following gave the newly independent nations a chance to stay away from the two-polar world
of blocism?
(a) Southeast Asian Treaty Organization (SEATO) (#) Central Treaty Organization (CENTO)

() Non-Aligned Movement {NAM) () Warsaw Pact

The population of India before division was:

() About 36 crore i) About 40 crore (#) About 50 crore {tl) About 56 crore
Which of the states is not of Baltic?

(a) Estonia ih) Ukraine (¢} Latvia (e) Lithuama
When was the NITI Aayog established?

(a) 15th August, 1914 (f) Lst January, 1915

() 26th January, 1915 {d) 15th August, 1915

Which pair is correct with respect to the permanent members of the UNSC?

(a) China — Germany "y UK — France (¢) Germany — Russia (e} America — Germany
Which of the following statements about Operation Iraqi Freedom is incorrect?

(a) More than 40 countries joined US-led coalition willing to attack Irag.

it} Describing the cause of the attack on Iraq, it was said that this attack is being done to prevent Iraq from

becoming a weapon of mass destruction,

() Prior to this action, the permission of the United Nations was taken.

(d) US-led coalition did not face strong challenge from Iraq’s army.

What was the main recommendation made by the States Reorganization Commission of 19537

(i) Determining the boundaries of states on the basis of the language spoken there.

(ii) Determining the boundaries of states on the basis of religion there.

(a) (i) only (b) (it) only

(¢) Both (2) and (i1) (d) None of these
Statement 1 : The Soviet Union deployed nuclear missiles in Cuba.
Statement 2 : The Soviet Union decided to turn Cuba into a Russian military base.

(a) Both the Statements are correct

(h) Both the Statements are incorrect

(¢) Statement-1 is correct but the Statement-2 is incorrect

(d) Statement-2 is correct but the Statement-1 is incorrect
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Match the following:

Column-1 Column-2

A, Earth Summit ity 1987

B. Antrcica Treaty (;) 1997

C. Montreal Protocol (1) 1959

D.  Kyotwo Protocol (fw) 1992
(@) (A)=(0). (B)=(ar), (C)=(i). (D)) (B) (A=), (B)=(iir). (C~i). (D)-(it)
(€) (A)=(@it), (B)~(iw), (C)=(it), (D)-(@) (d) (A)=(v), (B)=(0), (C)=(a), (D)-(ia)
Which party was dominant in the Soviet political system?
() Leninist Party it) Communist Party ir) Labour Party () None of these
Which two countries of the European Union are the permanent members of the UN Security Council?
() France — Britain i) China — America (r) China — Japan () Denmark — Japan
India’s second nuclear test was done in .
() 1998 by 1999 i) 2004 (d) 2009
When was Anand Pur Sahib Proposal passed?
{e) 1973 ib) 1975 ic) 1976 () 1977

Which agreement was made between the Prime Minister of India Lal Bahadur Shastri and Pakistan's General
Ayub in 19662

(a) Tashkent agreement (f) Tibet agreement

i) Aksai — China agreement {d) Soviet agreement

How many types of Mass Movements are there?

() One ih) Five ir) Three () Ten
When were ‘Privy Purses’ ended?
{a) 1970 by 1971 () 1972 () 1975
was the founder of Bahujan Samaj Party.
() Mayawati i) Kanshiram () Jyotiba Fule () Dr. Ambedakar
Identify the country:
Centrally located and shares borders with most of the South Asian Countries.
() Sri Lanka i) Pakistan ie) India () Maldives

Which among the following would give more weightage to India’s proposal for permanent membership in
the Security Council?

(a) Nuclear Capability.

(0) It has been a member of the UN since its inception.

() It is located in Asia.

() India’s growing economic power and stable political system.

Which among the following would you consider as a traditional security concern?

{#) The spread of Chikingunya/dengue fever

i) Inflow of workers from a neighbouring nation

() Emergence of a group demanding nationhood for their region

{e) None of these

In which year was first meeting of “World Social Forum’ organised?

() 2001 by 2002 (c) 2003 (d) 1999



22. Arrange the following in chronological order:

(i) Soviet invasion of Afghanistan (#i) Fall of the Berlin wall
(iii) Disintegration of the Soviet Union (iv) Russian Revolution
(a) (iw), (), (i), (20), by (2), (i), (i), (a) () (), (1), (ee), (1) (e} (e, (2), (i1), (iv)

23. Statement 1 : The first Non-Aligned summit was held in Belgrade in 1961.
Statement 2 : 28 member countries attended the first non-aligned summit.
() Both the Statements are correct
(/) Both the Statements are incorrect
(e) Statement | 15 correct but the Statement 2 18 incorrect
() Statement 2 15 correct but the Statement 1 1s incorrect
24. Sardar Vallabhbhai Patel was entrusted with the task of unification of the princely states. Which of the
following arguments is not correct?
(a) He had a long political experience.
(#) He was a visionary and a good speaker.
() Indian National Army wanted that the task of integration should be entrusted to Sardar Vallab bhai Patel.

() He was the Home Minister as well as the Minister ol Concession Department.

25. Mikhail Gorbachev started the policy of and
(a) Perestroika, Shock Therapy (#) Glasnost, Shock Therapy
(c) Perestroika, Glasnost () None of these
26. There were types of challenges that India faced just after independence.
() Two ity Three () Four {d) Five
27. Arrange the following in chronological order:
(i) India-Pakistan War-1971 (ii) Israel Establishment of Embassy in India
(iii) Dalai Lama Asylum in India (iv) India’s Second Nuclear Test
(@) (i), (ifd), (iv), (i), (by (@i, (D), (i), (iv) (e) (i), (iv), (i), (i) () (i), (i), (i), (iv)

28. The main function of the International Court of Justice is:
(@) Member settlement of disputes between countries
{#) Emergency shelier and medical aid
(¢) Debate on global alfairs
() Adjustment and administration of United Nations affairs

29. Study the picture given below and answer the question that follows:

When was this organisation established?
(a) 1942 (b)y 1943 (c) 1945 (d) 1948
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When was the Chinese political system changed?
(a) 1962 by 1963 () 1970 () 1975
What are false about India’s current nuclear program?
(i) India’s nuclear policy is peace-oriented.
(if) India can use atomic bomb at the time of need.

(iif) Policy of ‘No First Use’ can be reviewed in accordance with international security.

(a) (i) only by (1) and (&) only () (i) and (1) only () (i) only
What is wrong about the National Development Council?

(@) The National Development Council has a Deputy Chairman.

(&) All cabinet ministers are included in the National Development Council.

(¢) It considers the National Plan prepared by the Policy Commission.

(d) Periodically reviewing the work of planning.

In 1945, the Allied forces included the United States, Britain, Soviet Russia and .
(a) Germany by Japan ir) France () China
How many members were elected in the first General Elections?
(a) 445 () 489 (c) 495 () 499
When was Communist Party formed in India?
(a) 1952 by 1924 () 1964 () 1934
Match the following:
Column-1 Column-2

A, Operation Infinite Reach (f)  War against Al-Qaeda and Taliban

B.  Operaton Enduring Freedom (tr)  Coaliton of the willing

C.  Operation Desert Storm (1) Missile attack in Sudan

D.  Operation Iraqi Freedom {rv)  First Gulf war
(a) (A)=(it), (B)=), (Ciw), (D)—a1) (b) (A=), (B)=(aa), (C)-2), (D)—ew)
() (A=), (B)=(i), (C)~{ua), (D)-4a) (d) (A=), (B)=(ii), (C)=(ait), (D))
When did the “Warsaw pact’ come into existence?
(a) 1950 (b) 1952 () 1955 () 1956

What is common property resources?

(a) It represents the common property [or the groups

(b) Property under control of any individual

(c) Property under control of any country

{d) None of these

Constitutional Monarchy lasted in Nepal till which year?

(a) 2006 by 2005 (€) 1990 (/) None of these
What is the worst effect of communalism?

() Electoral politics {b) Obstruction in national unity

(c) Political instability ifl) None of these

In which article of foreign policy of India its basic sources are included?

{a) Article 51 by Article 63 () Article 358 {e) Article 281
‘Chipko Andolan’ was related to .

() Poor (b Slaves (¢) Environment (o) Water
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When was National Backward Classes Commission formed?

(er) 1993 by 1992 (c) 1991 {d) 1990

‘What is S5VD?

() Organisation of non-congress () Organisation of non-official

() Organisation of Congress Yuva Brigade () Official Post

How many types of flows are there in globalisation?

{a) One ity Two ic) Three {ef) Four
Sheikh Mujibur Rahman played an important role in the independence of .

() Pakistan by India ir) Maldives (i) Bangladesh

Who was the founder of Mizo National Front?

(a) Agmi Japu Fizo (0 Laldenga (r) Gegang Apang () Pawan Chamling
When did the theory of ‘common but differentiated responsibilities’ came into existence?

{a) Earth Summit b} Kyoto Protocol i€) Both {g) and () {ff) None of these
Who was the leader of country wide strike of Railways in 19747

(a) Jaiprakash Narain (b) George Fernandes (r) Morarji Desai (if) Ch. Charan Singh
Who was the supporter of Naxalites?
(a) Jayaprakash Narayan (b) Chiman Bhai Patel () Atulya Ghosh (i) Charu Majumdar
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ANSWERS
~ PRACTICEPAPER-5

L@ 2.0) 30 40 50 6.0 1@
8. (@ 9.() 10.(0) 11.(@) 12.() 13.(@) 14.(a)
15. (¢) 16.(b) 17.() 18.(c) 19.(d) 20.() 21. (a)
22. (@) 23.() 24.(c) 25.() 26.(0h) 27.(0) 28. ()
29. (¢) 30.() 31.(c) 32 (a) 33.() 34.(c) 35.()
36. (@) 37.(c) 38.(a) 39.(a) 40.(h) 4l1.(a) 42. ()
43. (@) 44.(a) 45.(d) 46.(d) 47.(h) 48.(a) 49. (h)
50. (d)



